January 26, 2024

Class:
transformation? Reminder: Reflection changes both the

orientation of the figure and the orientation of the ver-

3. Which preimage maps to the image through a reflection
tices.

Name:
Which two figures below can be mapped using rigid mo-

tion?

1.

Unit 3 Revision
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O AABC and ADEF
O AQPRand ADFE
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O AXYZand ADEF
which figure is the image?
O ADEF (O AD'E'F

O AXYZand AQPR
2. For the rigid motion shown in the coordinate plane,
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4. The AWXY with vertices W(-1,-8), X(-3,2), and

Y (4,1) undergoes a transformation resulting in AW'X'Y’

with vertices W'(8,1), X'(-2,3), and Y'(-1,—4). Which

transformation maps AW XY onto AW'X'Y"?

O R(x—axis) O R(y—axis) O R(y:x) O R(y:—x)

. The vertices of APQR are P(6,9), Q(0,-2), and R(-2,4).
If Rix—axis) (APQR) = AP'Q'R, what are the coordinates

of the vertices of AP'Q'R'?

O P'(6,-9),Q'(0,2), R'(-2,-4)
O P'(-6,9),Q'(0,-2), R'(2,4)
O P'(9,6), Q' (-2,0), R'(4,-2)
O P'(-9,-6),Q'(2,0), R'(-4,2)

What is the reflection rule that maps triangle and its im-
age?

D(-2,5), E(6,5), and F(2,-1).
D'(-2,5), E'(-10,5), and F'(-6,—-1)

O Ry:x O Rx=2 O Rx=—2 O Ry:—x

7. Which transformation maps ALMN onto AL'M'N’

T Sy S
I I I I I Sv

O Ry=x O Ry=—x O 1r=90c,00 O T90°,0)

. Suppose AXY Z is the result of a translation of AUVW.
If AUVW has vertices U(-8,-9), V(-3,-10), and

W(-5,-6) and Y is at (-3, —2), what translation rule maps

AUVW to AXY Z?

O Tog (AUVW)=AXYZ

O Two,-8(AUVW)=AXYZ

O Tgo (AUVW)=AXYZ

O T80 (AUVW)=AXYZ

9.

10.

11.

12.

13.

Give T3 (AABC) = AA'B'C' and the vertices of
AA'B'C' are A'(6,-1), B'(3,4), and C'(-1,-2), what are
the coordinates for the vertices of A ABC?

O A(,-4), B(-2,1), and C(-6,-5)

O A(11,2), B(8,6),and C(4,1)

O A(-1,4), B(2,-1),and C(6,5)

O A(-11,-2), B(-8,-6),and C(—4,-1)

Which transformation maps the preimage to the image
shown in the coordinate plane?
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Given the composition transformation
(Riy=-» © T(=3-2)) (AABC) = A”"B"C", which of the fol-
lowing represents the first transformation in the compo-
sition transformation?

O Ti-3-2(AA'B'C')=nA"B"C"
O T(=3-2 (AABC)=AA'B'C’
O R(y=—x (AABC)=AA'B'C
O Ry=-x (AA'B'C')=AA"B"C"

Given (R(x-axis)© T2,0) (ADEF) = AD"E"F", what are
the coordinates for the vertices of AD'E'F’ when the ver-
tices of ADEF are D(2,5), E(-3,-1), and F(—4,4)?

O D'(4,9), E'(-1,3), and F'(-2,8)
O D'(0,1), E'(-5,-5), and F'(-6,0)
O D'(-4,-9), E'(1,-3), and F'(2,-8)
O D'(0,-1), E'(5,5), and F'(6,0)

A regular pentagon is rotated 360° about its center. How
many times does the image of the pentagon coincide with
the preimage during the rotation?

O 5times (O 6times () 7times (O 8times
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14. Which preimage maps to the image through a rotation 15. Consider A ABC with vertices A(2, 4), B(6, 2), and C(8, 6)

transformation? Reminder: A rotation changes the ori- on the coordinate plane.
entta.tlon of the figure and but not the orientation of the First, perform a translation of the triangle by (~3, 1) to ob-
vertees. tain AA'B'C’. Next, reflect AA’'B'C’ across the y-axis to
get AA"B"C".

I ‘y What are the coordinates of point A” after these transfor-

é yi mations?

o /7‘/4

T4 II O+L3 O0nL3 OELY O W3
(V)
2

O / / 16. Consider a quadrilateral ABCD on the coordinate plane,
€ > X where A(2,3), B(5,3), C(5,6), and D(2,6).

Perform a reflection of the quadrilateral across the line

A ¥y = 4 to get quadrilateral A’B'C'D’. Next, reflection

P -6 quadrilateral A'B'C'D’ across the line y = 1 to obtain
N quadrilateral A”"B"C"D".

T~

Y What is the equivalent translation that takes the quadrilat-
‘ eral ABCD to quadrilateral A”B"C"D"'?

(w::]

O To,-69 O Toe) O To-9 O Toa

~—_\

5 17. Consider triangle ABC on the coordinate plane, where
O < / > x A(3,2), B(6,5), and C(1, 5).

) Perform a reflection of the triangle across the line y = x to
* get A'B'C’. Next, reflect A’B’'C’ across the y-axis to obtain
AI/BH CN

~
'
(ke

C/
What is the equivalent rotation angle that takes triangle

ABC to triangle A""B""C""?

7 O 90° O 180° (O 270° O 360°

lw::]

A

form a counterclockwise rotation of 90° about the origin.

l

6 A

5‘1“1 = 18. Consider the point P(4, —2) on the coordinate plane. Per-
i
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What are the coordinates of the resulting point, P'?

A

1 hlc O@4 OF42 O@-4 O (2 -4
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: 19. Consider the point P with coordinates (3, 7). Perform
‘ T(2,—4) followed by another translation, T(—;3) to obtain
the final position, P".

‘ What is the equivalent single translation that takes point
L7 P to the final position, P"'?

w1

N~

O Tusy O Tu-n O Tan O Te-v

O < i / > X 20. Draw the lines of symmetry for the following figures.




